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UNIT 3 TEST: Ratios and Percents
	OBJECTIVE: 6.N.6  Understand the concept of rate

	1
	In a forest that has 54 wizards in it, twenty have beards and the rest don’t. What is the ratio of bearded wizards to non-bearded wizards?

A) 20 to 54                          B) 34 to 54

C) 20 to 34                          D) 34 to 20


	

	2
	Larry can bake 60 cookies in 1 hour. How long will it take Larry to bake 180 cookies? 

__________________________________________________________


	

	3
	At one store you can buy 3 candy bars for $2. At another store you can buy 4 candy bars for $3. Which is the better buy?

A)  3 candy bars for $2
B)  4 candy bars for $3

C)  Neither. They both give you the same amount of candy for the same amount of money. 

D)  There is not enough information to determine which is the better buy.


	

	4
	Jasper can type 265 words in 5 minutes. Which strategy can he use to determine the number of words he can type in 14 minutes?

A)  Divide 265 by 5 to get the words per minute and then add 14

B)  Divide 265 by 5 to get the words per minute and then subtract 14

C)  Divide 265 by 5 to get the words per minute and then multiply by 14

D)  Divide 265 by 5 to get the words per minute and then divide by 14


	

	5
	Rachel can walk at a rate of 3 miles per hour. How far can she walk in 3 hours?
____________________________________________________________

	

	
	
	

	OBJECTIVE:  6.N.7  Express equivalent ratios as a proportion

	6
	Allyson can shovel the snow from 3 neighbors' sidewalks in the same amount of time it takes her younger brother Ben to shovel 2 neighbors' sidewalks. Write a proportion that shows how you could find the number of sidewalks Ben can shovel in the time it takes Allyson to shovel 9 sidewalks.  You do not need to solve it.

	

	7
	These two rectangles are similar. Write a proportion that you could solve to find the length of the smaller rectangle.  You do not need to solve it. 
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	8
	Jim can make 16 glasses of iced tea with 2 gallons of water.  Write a proportion you could use to find out how many glasses of iced tea he can make with 5 gallons of water.  You do not need to solve it. 


	

	9
	Which pair of ratios form a proportion?
A)  3:5 and 6:8                                    B) 2:5 and 4:12

C) 4:7 and 12:21                                 D) 2:3 and 5:6

	

	10
	Perry baked 24 cupcakes using 2 pounds of flour. Then, he bought 5 more pounds of flour. Write a proportion that you could use to figure out how many cupcakes could he bake with 5 pounds of flour.  You do not need to solve it. 


	

	
	
	

	OBJECTIVE:  6.N.8  Distinguish the difference between rate and ratio

	11
	What’s the difference between a rate and a ratio?  
_____________________________________________________________

_____________________________________________________________

_____________________________________________________________


	

	12
	Is the expression “5 miles per hour” a rate or a ratio?  

	

	13
	Is the expression “three red pencils for every two green pencils” a rate or a ratio?  

	

	14
	Is the expression “ten out of every twelve marbles are blue” a rate or a ratio?  


	

	15
	Is the expression “four apples per $1.00” a rate or a ratio?  


	

	
	
	

	OBJECTIVE:  6.N.9  Solve proportions using equivalent fractions

	16
	If 2 pizzas will feed 5 people, how many people could you feed with 10 pizzas?

	

	17
	For every 3 boys there are 4 girls in the sixth grade. If there are 120 boys, how many girls are there?

	

	18
	Albert used 5 eggs to bake 15 cookies. Then he used 18 eggs. How many cookies can Albert bake with 18 eggs?


	

	19
	Jeanine types 12 pages in 2 hours. Assuming that she worked at the same rate of speed, if Jeanine typed for 7 hours, how many pages could she type?

	

	20
	Harriet owns 3 videos for every 7 that Ira owns. If Ira has 35 videos, how many videos does Harriet own?

	

	
	
	

	OBJECTIVE:  6.N.10   Verify proportionality.

	21
	Which ratio is proportional to 2:7?

A)  6 : 24

B)  4 : 12

C)  3 : 8

D)  6 : 21
	

	22
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Which of the following groups contains a ratio that is NOT equivalent to     ?
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	23
	Choose the ratio that is proportional to 1:3.

A)  4:12                               B)  1:2

C)  1:4                                 D)  3:12


	

	24
	During practice, the track team divides into two groups: the runners and the field athletes. The ratio of runners to field athletes is 5:2. Which of the following could represent the track team?
A) 8 runners and 20 field athletes              B) 25 runners and 10 field athletes

C) 10 runners and 25 field athletes            D) 10 runners and 15 field athletes


	

	25
	Which of the following sets contain ratios that are all equal to 1/8?
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	OBJECTIVE:  6.N.11  Read, write, and identify percents of a whole (0% to 100%)

	26
	75 out of 100 students surveyed said that they like chocolate ice cream.  What percent of students does this represent?  


	

	27
	80 out of 200 students surveyed said that red is their favorite color.  What percent is this?  

	

	28
	If 4 out of 100 pens I bought had broken tips, what percentage of pens was bad?  

	

	29
	30% of students surveyed said they like to watch baseball.  If 100 students were surveyed, how many like to watch baseball?  

	

	30
	80% of students surveyed said they like to watch basketball.  If 200 students were surveyed, how many like to watch basketball?  

	

	
	
	

	OBJECTIVE:  6.N.12  Solve percent problems involving percent, rate, and base

	31
	There are 110 trees in the park, and 33 of them stay green in the winter. What percent of the trees in the park stay green in the winter?


	

	32
	There are 16 animals in the aquarium, and 4 of them are frogs. What percent of the animals are frogs?


	

	33
	There are 45 members of the French club. 20% of the members can speak French fluently. How many members of the French club can speak French fluently?


	

	34
	Irene is feeding all 60 horses in the stables. She has already fed 30% of the horses. How many horses has she fed?


	

	35
	Helen bought 15 red balloons. 60% of the total number of balloons that Helen bought were red. How many balloons did Helen buy in all?


	

	
	
	

	OBJECTIVE:  6.N.21  Find multiple representations of rational numbers (fractions, decimals, and percents 0 to 100)

	36
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What is another way to write      ?

A)  30%                                          B) 35%
C) 60%                                           D) 3.5%

	

	37
	What fraction is equal to 75%?

____________________________________________


	

	38
	A glass of orange juice contains 125% of your daily value of vitamin C. Express the percent of vitamin C as a fraction.
A) 
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	39
	Write 250% as a decimal.  


	

	40
	Write 0.07 as a percent.  


	

	
	
	

	OBJECTIVE:  6.N.26   Estimate a percent of quantity (0% to 100%)

	41
	Sales tax in New York City is 8.375%.  I want to know if I have enough money to buy a $45 pair of jeans once tax is included.  I have $50 with me.  Estimate the tax on the jeans.  


	

	42
	To estimate 23% of a number without a calculator, what fraction should you multiply the number by?  

A)  1/5                               B)  ¼

C)  ½                                 D)  2/1


	

	43
	Suppose you go out to lunch as the bill for your meal comes to $14.80.  You want to leave a generous 20% tip.  Estimate the tip you should leave.  Show your work!  

	

	44
	Nadia wants to find 33% of $1900.  What would be a good method to estimate this quantity?  
A)  multiply $1900 by 1/4                  B)  multiply $1900 by 1/2

C)  divide $1900 by 2                        D)  divide $1900 by 3


	

	45
	A pair of shoes with a sticker price of $47.00 are marked 25% off.  Estimate the discount.  Show your work! 

	

	
	
	

	OBJECTIVE:  6.G.1   Calculate the length of corresponding sides of similar triangles


	46
	The two triangles below are similar.  What is the length of the missing side?  
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                         15in.  

                                           ???

     5in..     4in.                            

       3in.                 9in.


	

	47
	Find the missing side of the triangle below: 


 ??                 

               3cm   

            

                             9cm

                       18cm


	

	48
	A tree’s shadow is 10 feet long.  A 5-foot pole next to it casts a shadow that is 4 feet long.  If the triangles formed by each object are and its shadow are similar, how tall is the tree?  



    X ft.                                         5 ft.  

                          10 feet                               4 feet


	

	49
	The two triangles below are similar.  What is the length of the missing side?  


                         9in.  

                                           8in

3.75in..     ???                            

       2.25.                 6in.


	

	50
	Find the missing side of the triangle below: 


6cm                 

                  ??

            

                             2cm

                       15cm
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